> restart
> P[D,h]==p=40—g
> P[S,h]:==p=10+ g

> eqgm|q, h] := solve(P[D, h]-P[S, h], {q})

> subs(P[D,h],p)

> subs({q=15}, %)

> eqm|p, h] = p=subs(P[D,h],eqm[q, h],p)

;> ColorTools:-GetPalette("HTML") :

> pstuff == thickness = 4, tickmarks = [default, [seq(i-5,i=0..8)]], titlefont = | Helvetica, Bold, 14 ], labelfont = ["ROMAN", 20]
pstuff == thickness = 4, tickmarks = [ default, [0, 5, 10, 15, 20, 25, 30, 35, 40]], titlefont = | Helvetica, Bold, 14 ], labelfont

= ["ROMAN", 20]

> P _h = plots|implicitplot | ([ P[D, h], P[S, h], egqm[p, h]],qg=0..25, p=10..30, color = [red, blue, black], pstuff , title

= "Home Supply and Demand" )
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] q
> P[D,f]=p=30—¢q
> P[S.f]l=p=q
PD,f =p=30—gq
Py ;i=p=q (7
=> eqm|q, ] = solve(P[D,h]-P[S, h], {q}) @



= "Foreign Supply and Demand" )
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> eqm[p.f] = p=subs(P[D,f], eqm[q.f],p)

eqm, = {g=15} @8

eqm, .i=p= 15 9

=> P f:= plots[implicitplot|([P[D, f ], P[S.f ], eqm[p,f]],q=0.25, p=10.30, color = [ magenta, green, black], pstuff, title

Foreign Supply and Demand
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> ImportDemand = q = solve(P[D, h], q) — solve(P[S, h], q)

ImportDemand := q=50 —2p 10
[ >
> ExportSupply = q = solve(P[S, f], q) — solve(P[D, ], q)
ExportSupply := qg=2p — 30 11

> egm|ExIm] = p = solve(ImportDemand - ExportSupply, p)
eqm = p=20 12
ExIm

>

> P _ExIm = plots[implicitplot|( [ ImportDemand , ExportSupply, egm[ExIm ], ¢ = 0..25, p = 10 ..30, color = [ purple, orange], pstuff,
title = "Export Supply and Import Demand", tickmarks = [ default, [ 10, 15, 20, 25, 301]])




> plots|display](Ptest)

Export Supply and Import Demand
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> Ptest == Array(1..1,1.3, [P_h,P f,P ExIm]) :
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> tau := 6

> ImportDemand - ExportSupply

13

(14



subs (p = p_h, ImportDemand)

q=50—2p h as
subs (p = p_f, ExportSupply)
g=2p f—30 16
subs (p = p_h, ImportDemand) - subs(p = p_f, ExportSupply)
0=80—2p h—2p f a7
subs(p_h=p_f+ tau, %)
0=68—4p f (18
eqm| ExIm, tariff | == p_f=solve(%,p f)
equxlm, tariff = p—f: 17 a9

P tariff = plots[implicitplot|([ p_f= 17 + tau, egm | ExIm, tariff |, subs (p = p_f, eqm [ ExIm, tariff |, ExportSupply),q=0.4,p f
= 17..23, pstuff, color = cyan) :

P incid = plots[display|(P_ExIm, P_tariff, tickmarks = [ [0, 4, 10, 20, 30], [10, 15, 17, 20, 23, 25, 30]], title = "Tariff Incidence" )
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=> P fi := plots | implicitplot | ([ P[D, f ], P[S,f],p=17],q=0..25, p=10..40, color = [magenta, green, black], pstuff, title
= "Foreign Supply and Demand" , tickmarks = [ [0, 5, 12, 15, 18, 20, 25, 301, [0, 5, 10, 15, 17, 20, 25, 30]])

>




Foreign Supply and Demand

> P _ht := plots|implicitplot|([P[D, h], P[S, h],p=23],q=0.25, p=0.30, color = [red, blue, black], pstuff , title
= "Home Supply and Demand", tickmarks = [ [0, 5, 12, 15, 18, 20, 25, 30], [0, 5, 10, 15, 20, 23, 25, 30, 40]])




=> plots|[display | (P_ft)
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Foreign Supply and Demand

> Ptest2 := Array(1..1,1.3, [P_ht, P_fi, P_incid ]) :
> plots|display](Ptest2)
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